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QUESTION 1

Assuming "the customer\\'s discount threshold" is an existing currency attribute, which two changes should you make to
the rule for it to pass Validation? 

A. Insert quotation marks around "uncertain". 

B. Change "otherwise" to OPM ?conclusion style. 

C. Change "the customer\\'s discount threshold" to "the customer\\'s discount threshold is". 

D. Swap column 1 and column 2. 

E. Remove the $ sign. 

F. Change "The customer is a silver member" to OPM ?level 1 style. 

G. Change "the customer\\'s discount threshold" to "the customer\\'s discount threshold =". 

Correct Answer: DF 

 

QUESTION 2

You created a policy model and now want to deploy the current project to the Hub. You also want to restrict the
interview so that it cannot be utilized anonymously by end users. 

Which two steps are required to accomplish these two goals? 

A. Through Policy Modeling, click Deploy Snapshot and enter your credentials to deploy your project. 

B. Through Policy Modeling, click Mapping Settings and configure which group should be able to access the interview. 

C. Through the Hub, click Deploy New Project and navigate to your project to deploy your project. 

D. Through the Hub, click Access Settings and configure which group should be able to access the interview. 

Correct Answer: BD 

 

QUESTION 3

Which three actions will help avoid or identify a multiply proven attribute error? 
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A. Double-click the attribute on the Interview tab to see if the attribute is used on multiple screens. 

B. Use the "Go To" option in Word to see if the attribute is proven in another rule. 

C. Right-click the attribute on the Data tab to see if the attribute is proven in another rule. 

D. Right-click the attribute on the Project tab to see if the attribute is used in multiple forms. 

E. Check the error list on the Rules tab for multiply proven attribute errors. 

Correct Answer: CDE 

 

QUESTION 4

A student admissions system must capture multiple study preferences for a prospective student. Each preference
includes a preferred campus. If the student is electing to study at the Sydney campus, then the student should be asked
accommodation questions. 

Which condition should you use to conclude that "the student should be asked the accommodation questions"? 

A. Exists (the preferences, the preference\\'s campus) = "Sydney" 

B. ValueAt (the preferences, the preference\\'s campus = "Sydney") 

C. InstanceCount (the preferences, the preference\\'s campus) = "Sydney" 

D. Exists (the preferences, the preference\\'s campus = "Sydney") 

E. InstanceEquals (the preferences, the preference\\'s campus) = "Sydney" 

Correct Answer: C 

Reference: https://www.oracle.com/technetwork/documentation/e79061-01-opm1047-3252369.pdf (204) 

 

QUESTION 5

You have a source material for your policy model that reads as follows: 

"Only families who meet the minimum work and education requirement are eligible for the competitiveness credit. A
family meets the work and education requirement if all of its members are either gainfully employed or enrolled in a full-
time study program. Families in which a member does not meet the requirement but is actively searching for a job can
apply for a waiver". 

Which statement describes the entity structure that your policy model should have? 

A. The rules will infer the necessary entities by using automatic data types. 

B. Create an entity for "the family member" an entity for "the family", and an entity for "the minimum work and education
requirement". 

C. Create an entity for "the family member" and use the global entity. 

D. Create an entity for "the family member" and an entity for "the family". 
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Correct Answer: B 

Reference: https://www.oracle.com/technetwork/documentation/e79061-01-opm1047-3252369.pdf 

Latest 1Z0-345 Dumps 1Z0-345 Study Guide 1Z0-345 Exam Questions

Latest 1Z0-345 Dumps | 1Z0-345 Study Guide | 1Z0-345 Exam Questions                                4 / 5

https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html


https://www.pass4itsure.com/1z0-345.html
2022 Latest pass4itsure 1Z0-345 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4itsure.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © pass4itsure, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-345 Dumps | 1Z0-345 Study Guide | 1Z0-345 Exam Questions                                5 / 5

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html

